
Multiplier des fractions mixtes négatives (H)

Nom: Date: Note:

Calculez chaque produit.

1.
1
3 × (−447) =

2. (−213) × (−146) =

3. 3 511 × (−235) =

4. 312 × (−149) =

5. (−5 812) ×
1
11 =

6. 129 × (−135) =

7. (−225) × 3 311 =

8.
1
8 × (−356) =

9. 114 × (−3 112) =

10. (−413) ×
1
8 =
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Multiplier des fractions mixtes négatives (H) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. 1
3 × (−447) = 1

3 × (−327 ) = (−3221) = (−11121)

2. (−213) × (−146) = (−73) × (−106 ) = 70
18 = 35

9 = 389

3. 3 511 × (−235) = 38
11 × (−135 ) = (−49455 ) = (−85455)

4. 312 × (−149) = 7
2 × (−139 ) = (−9118) = (−5 118)

5. (−5 812) ×
1
11 = (−6812) ×

1
11 = (− 68

132) = (−1733)

6. 129 × (−135) = 11
9 × (−85) = (−8845) = (−14345)

7. (−225) × 3 311 = (−125 ) ×
36
11 = (−43255 ) = (−74755)

8. 1
8 × (−356) = 1

8 × (−236 ) = (−2348)

9. 114 × (−3 112) = 5
4 × (−3712) = (−18548 ) = (−34148)

10. (−413) ×
1
8 = (−133 ) ×

1
8 = (−1324)
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